A Guide to Higher 

Reading for Understanding, Analysis and Evaluation 
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 UNDERSTANDING
Understanding questions are the most straightforward.  They are usually worth either one or two marks.  In each case you are asked to show that you understand the writer’s meaning by explaining the answer in your own words.  If you lift the information you will be given nothing because you have not proven your understanding.  You must try to avoid vague explanations because you are being asked to convey how well you have understood the writer’s meaning.  This means that you must be as specific as you can.  However, it would be foolish to write too much when there are only one or two marks involved.  The Golden Rule: be specific and avoid useless, vague detail that will slow you down. 
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The Classic Understanding Question – 2005 Question 1a
According to the first sentence of the passage, what important discovery has been made about comet impact?  Use your own words as far as possible. [2]
“The discovery that a comet impact triggered the disappearance of the dinosaurs as well as more than half the species that lived 65 million years ago may have been the most significant scientific breakthrough of the twentieth century.”

Now this question is simply testing whether you understand the writer’s explanation of the discovery that has been made about the impact of comets.  You must prove that you understand the nature of this discovery by explaining in your own words what the writer has written.  This question is worth two marks so you are either looking to convey two pieces of information or explain one piece well.
[image: image2.jpg]




The first piece of information we are given about the discovery is that “a comet impact triggered the disappearance of the dinosaurs as well as more than half the species that lived 65 million years ago”.  Now, we cannot simply lift this or quote it so we must now think about how to explain this in our own words.

We know that to trigger means set off something, such as a chain reaction for example.  So the impact or collision (own word choice) with a comet began the process of dinosaurs disappearing or dying out (own word choice).  It did not completely destroy them; it only began the process.  This is why it is important to be specific and not vague.  Triggered is only the beginning not the end.  The word dinosaur is impossible to change so we can leave this.  However, we can change the phrase the species to other living beings.  We can leave 65 million years as it is a specific figure.

The second half of the answer and consequently that which refers to the second mark is to be found in the phrase may have been the most significant scientific breakthrough of the twentieth century.  He does not say that this discovery is definitely the most significant.  He says may have been.  This lack of certainty must be accurately conveyed so we could translate it as it could possibly be or it might be.  The phrase significant scientific breakthrough of the twentieth century could be translated as the most important or the most telling.  The word breakthrough suggests a new step or an advance into what was previously unknown so this could be translated as advance or step forward.  Scientific could be translated as the world of science.  Finally of the twentieth century could be left as it is a specific time or you could write of the previous century. 
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The collision of a comet began the process of the dinosaurs, as well as over half the living beings on the planet, dying off 65 million years ago.  It is believed that this advance of science might well be the most important of the previous century.
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The Context Question – 2005 Question 12

Show how lines 28-42 help you to understand the meaning of the word “Armageddon”. [2]
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“Others are, however, convinced that it is only a matter of time before we face Armageddon.  Liberal Democrat MP and sky-watcher, Lembit Opik, says: “I have said for years that the chance of an asteroid having an impact which could wipe out most of the human race is 100 percent.”  He has raised his worries in the Commons, successfully campaigned for an all-party task force to assess the potential risk and helped set up the Spaceguard UK facility to trace near-earth objects.  He admits: “It does sound like a science fiction story and I may sound like one of those guys who walk up and down with a sandwich-board saying the end of the world is nigh.  But the end is nigh.” 

With a context question you are being asked to show that you have been able to work out the meaning of the word by looking at the words surrounding it.  in other words you look at the word in the context it is being used.
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To answer this question you must follow three steps if you are to gain two marks:

1.

Explain the meaning of the word you have been given.

2.

Quote one or two words or phrases that have helped you work out the meaning from the lines you have been assigned.

3.

Explain how these quotes have helped you arrive at the meaning of the word.
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The word “Armageddon” refers to the end of the world.  Phrases such as “the end of the world is nigh” clearly have biblical allusions to the end of time.

or

The word “Armageddon” refers to the end of the world and the end of the human race.  Phrases like “an asteroid having an impact which could wipe out most of the human race” clearly indicate that the subject being discussed is the end of time as the language is apocalyptic.

Remember the context question will come in many forms but you will always recognise it because you will be asked to explain the meaning by reference to the lines surrounding the word or phrase.  Again, only two marks are at stake so a lengthy answer would be wasteful.  Be specific and avoid useless detail.
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The Link Question – 2003 Question 5a

Referring to specific words or phrases, show how the sentence “Yet...misconceptions” (lines 51-53) performs a linking function in the writer’s line of thought. [2]
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“Yet at the heart of this ever more draconian approach to immigration lie a number of misconceptions.”

This is another classic understanding question and it is also an easy two marks if you follow the steps that you should take every time you answer this type of question.
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1.

Quote from the first half of the link sentence - the first half of the linking sentence usually refers back to the first half of the passage.  

2.

Explain how this quote is a link to the previous topic and quote a piece of text from earlier in the passage that this link is referring to.

3.

Quote from the second half of the link sentence – the second half of the linking sentence usually refers to the second half of the passage which has changed direction from the first half.

4.

Explain what the change in direction is and quote a phrase from the second half of the passage that the link is referring to.

5.

If there is a linking word such as “but” or “however” in the link sentence this must also be commented on.
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Firstly, “Yet” is a linking word which indicates that the argument is about to move in a new direction.  The phrase “at the heart of this ever more draconian approach” refers back to the severe tactics used to curb immigration that are described earlier in the passage such as incarcerating people in “accommodation centres”.  The phrase “lie a number of misconceptions” refers forward to the second half of the passage which goes on to explain that the immigration problem is not as severe as people may think: “A significant proportion of refugees want nothing more than to be able to return to their homeland when conditions allow.”
ANALYSIS
The analysis question is the most complex category of question in the Close Reading exam.  Unlike understanding questions where you are asked to convey the writer’s meaning in your own words, analysis questions ask you to demonstrate how the writer has conveyed his or her meaning.

The wording of analysis questions – language, style, stylistic features ...
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When an analysis question uses any of the above terms it is simply asking you the same thing.  Each of these words is interchangeable and they simply refer to such techniques as word choice, imagery, sentence structure, tone, punctuation, etc.

Example 1 

How does the writer’s language make clear her disapproval of any one of the proposed measures referred to in lines 35-50? [2]

This question does not specify which techniques you should analyse.  It just uses the word language.  Now, because it is a two mark question all you need to do is select one technique, quote an example and analyse it.  So you could select an example of word choice or sentence structure or an example of tone – but only one. 

Example 2

How does the language of lines 80-92 emphasise the writer’s feelings about the “army of professionals” (lines 80-81)?

In your answer you should refer to at least two techniques such as sentences structure, tone, word choice ... [4]

This question also uses the word language, but it also specifies techniques that it wants you to look at.  You are also told to look at two techniques from the list.  This is because the question is worth four marks: two marks for each technique analysed.  So, for instance, you would pick an example of word choice, quote it and analyse it.  Then you could do the same for an example of sentence structure.  The use of ellipsis (...) means and any other technique you can think of.  However, it is better to stick to the list itself.

Example 3

Show how effective you find the writer’s imagery in lines 106-112 in conveying the excitement of the “debate”. [2]

In this question you are asked to look at a specific technique so you would only look at one example of imagery for two marks. 
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Example 1 – 2003 Question 4c

How does the writer’s language make clear her disapproval of any one of the proposed measures referred to in lines 35-50? [2]
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“This week the Home Secretary was assuring his French counterpart that Britain would clamp down even more severely on those working here illegally.  At the same time plans are advanced for “accommodation centres”, which will have the immediate effect of preventing natural integration, while children of immigrants are to be denied the harminsing effect of inter-racial schooling.  Meanwhile, ever more sophisticated technology is to be employed to stem the numbers of young men who risk their lives clinging to the underside of trains and lorries, or are paying obscene sums of money to the 21st century’s own version of slave traders – those traffickers in human misery who make their fortune on the back of others’ desperation.”
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Now, before we answer this question there are three steps we must keep in mind when answering any analysis question:

1.

Quote a single example of word choice, sentence structure, imagery, etc.  Identify the technique you have chosen.

2.

Explain the connotations, associations or effects of the technique.

3.

Refer the analysis of Step 2 back to the question and explain what it reveals about the writer’s ideas, feelings, attitude, not forgetting to be specific as to what the attitude, feelings or ideas are.

If the question is worth four marks you repeat the process again with a second technique and then move on to the next question.

What is meant by Step 2?

The word connotation refers to the pictures, images, ideas and themes you associate with a word or image.  In other words, what you associate with it.

If we take the above question we see the use of the words (word choice) “clamp down”.  What do we think of when we read these words: violence, aggression, political oppression, brutality, restrictiveness?  These are all the connotations that come to mind.

Now, clearly these are not positive connotations so we would be right to assume that the writer is in fact showing her disapproval of and disgust at the fact that the government are focusing on punishing illegal immigrants and bringing down the full weight of the law on those who are vulnerable.  In answering the question it would not be sufficient to simply say these connotations demonstrate that the writer disapproves of the government’s policies.  You need to be specific and explain in what way the writer disapproves.

In the same way if the question asks you what the writer’s language tells you about their attitude and feelings you must specify what their attitude is or what their feelings are.  If you were to say this shows you that the writer’s attitude is negative then you will not be awarded any marks because you need to be specific.  In what way is the attitude negative? 
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The writer’s use of imagery in the phrase “clamp down” reminds us of those governments who brutally and ruthlessly oppress political opponents with violence, without regard for the individuals’ human rights.  In referring to the government in this way the writer is showing that she is disgusted by the government’s heavy-handedness towards the immigrants when they are in such a vulnerable position.

or

The writer places inverted commas around the words “accommodation centres” in order to distance herself from the use of these words in such a context.  The inverted commas simply mean so-called places of accommodation, whereas they are actually places of incarceration where innocent people are clearly inappropriately imprisoned in the writer’s eyes.

In both cases, the answer quotes, specifies the technique, explains its connotations or effects and refers back to the question by being specific about what each technique reveals about the writer’s disapproval.

suggests

evokes/ is evocative of
indicates

implies

carries with it associations of
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Example 2 – 2004 Question 6b

How does the language of lines 80-92 emphasise the writer’s feelings about the “army of professionals” (lines 80-81?

In your answer you should refer to at least two techniques such as sentence structure, tone, word choice ... [4]
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“Everywhere you turn there is an army of professionals – ably abetted by the media – hard at work encouraging parents to fear the worst.  Don’t let your children out in the sun – not unless they’re wearing special UV-resistant T-shirts.  Don’t buy your children a Wendy house, they might crush their fingers in the hinges.  Don’t buy a baby walker, your toddlers might brain themselves.  Don’t buy plastic baby teethers, your baby might suck in harmful chemicals.  Don’t let them use mobile phones, they’ll sizzle their brains.  Don’t buy a second-hand car seat, it will not protect them.  And on and on it goes.”
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The above question is worth four marks, so we must go through the three steps twice.

When you are looking at sentence structure you must revise Step 2.  You cannot bring out the connotations of sentence structure so you need to explain its effects in terms of how it helps to support or convey the writer’s arguments.

For example, in the extract we have several examples of sentence structure.  So if we were to pick the repetition of the phrase “don’t buy” we would have fulfilled Step 1 by quoting and identifying the technique.

To fulfil Step 2 we must now explain the effect of this repetition.  Namely, in accordance with the question we must show how the writer uses this example to convey her feelings about this “army of professionals”.  We must also state what these feelings are to fulfil Step 3.

Remember, when thinking about sentence structure you should be looking out for lists of words or even sentences that make up a list; repetition of words, phrases or the repetition of sentence types; and climax and anti-climax.

If the question uses the word structure rather than sentence structure it is still referring to sentence structure as well as to the structure of the paragraph itself.
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Clearly, the repetition of the phrase “don’t buy” highlights the paranoid, anxious and almost obsessive nature of these professionals who constantly repeat negative messages in order to scare parents into taking better care of their children.  Through repetition it is clear that the writer feels a strong sense of annoyance and frustration that these messages are repetitively negative and irrational.

This would gain you two out of the four marks.

There are other examples of sentence structure in this extract – use of parenthesis, list of negative sentences, repetition of “on” in “on and on it goes” – but you must only choose one example.

The second part of your answer should either refer to tone or word choice.

The writer creates a sarcastic and mocking tone by using phrases such as “brain themselves” alongside phrases like “a baby walker”.  A “baby walker” juxtaposed with “brain themselves”, which is very violent, the two images clash because they are so far removed from one another to the extent that they convey the writer’s mocking tone towards those professionals who she feels have lost their grip on reality.

This would gain you the second set of two marks.

The technique is identified, quoted, the connotations have been explored, and the analysis has been referred back to the writer’s feelings.  The writer’s feelings have also been stated.
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Example 3 – 2005 Question 9b

Show how effective you find the writer’s imagery in lines 106-112 in conveying the excitement of the “debate”. [2]
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“Many details referred to in our story are still controversial.  Debate is particularly heated as regards the role of impacts in directing the course of human history.  All of this is very exciting.  The whole topic is in a state of ferment, a symptom that sometjing significant is brewing.”

Here we are asked to look at a specific technique (imagery) for two marks.  All we need to do is select one example of imagery and follow the three steps.
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The writer’s use of the image “in a state of ferment” makes us think of something that is constantly in motion, something that is evolving and growing.  This clearly shows that the debate is lively and exciting and constantly changing just as yeast constantly multiply and alter.

The same comments could be used when discussing the brewing image.

This answer would gain you two marks.

Remember, follow the three steps and all will be well.

For two marks, follow the three steps once and for four marks repeat the process.

EVALUATION
The evaluation question that is based on both passages is a crucial question because it is usually worth five marks.  Furthermore, there is also a technique to answering such a question.

Distinction between ideas and style

The question on both passages will either ask you to look at the ideas of or the style of the two passages.  You could also be asked to look at both ideas and style.

When the examiner asks you to look at style he is referring to language features such as word choice, imagery, sentence structure, tone and punctuation.  On the other hand, when the examiner asks you to look at ideas he is referring to the arguments that the writers have made, the points they have put forward and the anecdotes they have used.

Now, if you are asked to look at style and you look at ideas you will not be awarded any marks.  If you are asked to look at ideas and you begin to analyse style you will not be awarded any marks.

Finally, some questions will give you the option of examining both style and ideas and in this case you are free to choose.

Remember, always read the wording of the question carefully.

Example 1 – 2003

Which passage has given you a clearer understanding of key issues concerning immigration and asylum-seeking?  You should refer in your answer to the main ideas of both passages. [5]

This question asks you to look at the ideas of both passages.  It does not mention style so any references to word choice, imagery, etc. would be inappropriate.  Stick to the writer’s arguments, points of view and anecdotes.

Example 2 – 2000

By close reference to both passages, compare and contrast aspects of the style of writing of each passage and explain how successful you felt each was in conveying the point of view of the writer. [4]

This question asks you to look at aspects of style such as tone, word choice and sentence structure.  Therefore, an answer that does not compare various aspects of style, but instead focuses on the writer’s arguments, would be awarded nothing.

Example 3 – 2005

Which passage do you find more effective in making you think about the implications for the human race of comet and asteroid impact?  Justify your choice by referring to the ideas and style of both passages. [5]

This question asks you to look at both aspects.  You do not have to be too evenly balanced in that you may focus on style more than ideas, but you should cover both aspects when comparing the passages.
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Regardless of whether or not you are looking at ideas, style or both you must take examples from both passages.  You can spend more time on one passage if you wish, but both passages must be examined.

The technique to answering these questions is very simple.  You take one argument from one passage and then compare it with another argument from the other passage.  You would then quote an example to illustrate each argument and then you would use the quotes to explain which argument you think is more effective and why.  Similarly, if you were looking at style you would quote, for example, one good example of sentence structure from one passage and do the same from the other.  After quoting them you would explain which is more effective in conveying the writer’s viewpoint and explain why.

For five marks you would repeat this process three times.  In other words you would compare three examples.

If you look at the three example questions you will see that you are being asked to consider which writer has been most effective in conveying a particular argument.  If you can justify your points with sound analysis of selected (quoted) examples of style or ideas from each passage you will gain the marks.

We will look at Example 3 because it covers both ideas and style.

So, what exactly are we being asked to do in this question?  We are being asked to consider which writer has been the most successful in making you consider the risks and dangers to human beings in the face of a comet impact.  So, for ideas we must consider which writer’s arguments have been the most convincing or the most plausible.  We must also explain why one set of ideas have convinced us more than the other set.  For style we must consider which writer has been more successful in using language features in order to make their point about comet impact.

When you are referring to aspects of style you should follow the same three steps that we discussed in the analysis handout.

For five marks you should make three sets of comparisons.  Remember, do not forget to quote from each passage.
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This is a very thorough answer and does conform to the three step process.  Each paragraph is worth at least two marks and deals with a different aspect.  Ideas and style have both been analysed, although style has been given more attention.  In analysing word choice and tone the answer has followed the three steps for completing analysis questions.  In focusing on ideas the answer sticks to points of view and arguments.

Passage two would seem to be the most effective in making us think about the implications of a comet impact.  Firstly, this passage deals with the practical problems for the human race following a collision with a comet.  We are told that post impact “we will probably lose about 25 percent of the human population” and that the “rest of us are basically back in the Middle Ages”.  This particular vision of the future is a disturbing one in that it brings home the fragility of humanity and the planet when faced by such catastrophes.  Passage one on the other hand takes a much more impersonal look at comet impact.  Rather than focusing in vividly on the consequences for human life the author focuses on many philosophical ideas such as questions surrounding asteroids being the cause of the ‘“Legendary “Flood”’.  Such considerations do not make as big an impact on the human imagination as 25 percent of humanity dying.

However, despite conveying the possible consequences to human life passage two also helps to put the threat into perspective.  The tone at the end of the second passage is very much tongue-in-cheek in that “bookmakers are willing to take bets at odds of 909,000 to 1” that a particular comet will wipe out humanity because if this does occur they “won’t have to worry about paying out to winning customers.”  Clearly this flippant tone indicates that although the effects would be devastating no one really expects a comet to hit earth in the first place, especially bookmakers who would not offer such ridiculous odds unless they were being facetious.  However, passage one ends on a very serious tone.  We are told that we cannot truly assess the risk until “we have learned a great deal more about the nature of the danger.”  The earnest tone of “the nature of the danger” indicates that this author is taking the whole issue far too seriously in the light of passage two’s statistic that the chances of being struck by a specific comet are 1 in 909,000.

Finally, although passage two provides us with perspective, the writer’s use of word choice undoubtedly makes us consider the potential nature of the catastrophe.  When the writer uses words like “Armageddon” we immediately have visions of apocalyptic and biblical images of the world ending in a ball of fire.   This is a very arresting image.  However, passage one’s word choice is too scientific or theoretical to trouble our imaginations.  When passage two is conjuring up “Armageddon” passage one is referring to “Homo Sapiens” and “the greenhouse effect, both of which are rather bland examples of word choice.  Neither of these, in my opinion, plays upon the imagination in the same way as the apocalyptic terminology.   

STRUCTURE - TYPES OF SENTENCE

· SIMPLE – consists of one main clause, e.g. John ate ice-cream.
· COMPOUND – more than one main clause, e.g. John ate ice-cream and Chris played football.
· COMPLEX – a main clause and subordinate clause(s) in varying order, e.g. When the rain stopped, Ian washed the car.
· MINOR – the verb is omitted, e.g. Still there. – for dramatic effect/ impact/urgency/suspense/informality/etc.
· STATEMENT – factual writing/narrative writing/simple or complex.
· QUESTION – reflective/emotive/rhetorical question(s) for emphasis; or to involve the reader more; or to make the reader question own views.
· EXCLAMATION – conveys tone of strong emotion/shock/amazement/ anger/disgust/etc.
· COMMAND – instructions/persuasive.
STRUCTURE – TYPES OF PARAGRAPHS

· LONG – old fashioned language/to build up tension/to build up detailed description.

· SHORT – easily digestible pieces/to create impact/easy language/one sentence in length to emphasise a statement or idea.

· ARE the SENTENCES – short and simple/tense/long and complex/ drawn out/lacking in punctuation/thoughts tumbling out/climax or anti-climax/a repetition of ideas/inversion – emphasising what?

· A TURNING POINT in a writer’s argument.

· A SERIES of EXAMPLES to illustrate or develop a writer’s point.

· GENERAL to the SPECIFIC in order to narrow a writer’s argument or focus the reader’s attention.
STRUCTURE - SENTENCE PATTERNS

· INVERSION – the predicate (words which tell us more about the subject) comes before the subject, e.g. Up and up leapt the flames. – this delays the subject and can be used to alter the emphasis in a sentence or make it sound more forceful.

· REPETITION – to emphasise a point or stress a particular word or phrase.

· CLIMAX and ANTI-CLIMAX – building up tension towards a high point/long sentences or listing and then one short sentence OR building up towards something which does not happen in the end/ undercuts the reader’s expectations/surprises.

· ANTITHESIS – balance opposites together to create a contrast, e.g. Those I fight I do not hate; those I guard I do not love. – in poetry can reinforce rhythm/used in speeches can make a point more memorable.

· LONG and SHORT - to indicate change of pace or emphasis.

STRUCTURE - PUNCTUATION

· COLON – introduce quotation/list/explanation or elaboration of previous point/climax/anti-climax.

· SEMI-COLON – separating phrases in a list/pause/balancing a sentence/antithesis.

· SINGLE DASH – extra information/breaking off the sentence/ series of dashes used informally to convey an outpouring of ideas or emotions.

· TWO DASHES – parenthesis – to mark off non-essential information in the middle of a sentence.

TONE

· CONVERSATIONAL – informal language/chatty/friendly

· FLIPPANT – making fun of something serious/irreverent, e.g. some brass and stuff up at the holy end, describing a church altar/colloquial/informal expressions

· HUMOROUS – trying to be funny or light-hearted

· EMOTIVE – words chosen to stir up emotions in the reader (e.g. shock/pity/anger/etc.) and to make the writing more dramatic – newspapers contain emotive language, e.g. a blazing inferno instead of just a fire
· SERIOUS – formal language/respectful and solemn/ponderous

· IRONIC – figure of speech where author says opposite of what he really means/can be for humorous effect but often has a serious purpose/author’s feelings expressed more forcefully –             verbal irony: when a person says one thing but means the opposite; irony of situation: when there is a difference between what is expected and what actually happens;                                     dramatic irony: a literary technique in which the audience can perceive hidden meanings unknown to the characters 

· EFFUSIVE – enthusiastic/unrestrained/gushing/used to persuade/a list of gushing superlatives making something sound fantastic, e.g. most, best, greatest, etc.

· TONGUE-IN-CHEEK – form of irony/sounds serious but has a sense of ridicule behind it/euphemism is a common feature of this tone

· SATIRICAL – an extreme form of irony/funny but savage/a subject is held up in order to attack it, e.g. as in Private Eye magazine/the satirist’s purpose is deeply serious although he may appear light-hearted on the surface
LANGUAGE – FORMAL and INFORMAL

FORMAL

· usually written

· has no abbreviations

· grammatically correct

· a wide range of word choice including complex or technical vocabulary

· tends to be factual

· has an impersonal tone (the author may put his own feelings aside and adopt a balanced and unbiased stance, i.e. objective)

· jargon – a specialised form of formal language which includes technical terms relating to a particular subject or occupation, e.g. the terms byte, icon, and file menu are computing jargon – can have negative associations, and is sometimes used to describe the use of unnecessarily complex and pompous words

· rhetorical language – aims to give an elevated, dignified and impressive effect and is most often used in a formal speech/the word rhetoric means the art of public speaking/a favourite technique used by speakers is to phrase a statement in the form of a question (hence rhetorical question)

INFORMAL

· usually spoken or at least a written version of conversational/ colloquial expressions

· uses shorter forms, e.g. don’t
· may use looser sentence structures

· more common, everyday words, some perhaps being non-standard English

· personal approach (using first person ‘I’ and second person ‘you’, i.e. subjective)

· may include feelings

· dialect – a particular variety of informal or conversational language/a way of speaking in a specific town or district, e.g. Scots dialect

· slang – also a particular variety of informal or conversational language/slang involves use of non-standard conversational word choice
LANGUAGE – LITERAL and FIGURATIVE

LITERAL

· using language to convey information in a literal way means that words are being used to mean exactly what they say

FIGURATIVE
IMAGERY

· simile – a figure of speech in which two things are compared using ‘like’ or ‘as’

· metaphor – a figure of speech in which two things are compared by saying one thing is another, e.g. He punched with an iron fist. – look out for extended metaphors as well

Example

“A trickle of aid to sub-Saharan countries came from the West last year instead of the necessary flood” illustrates that a natural force like water can be used to describe the way that third-world countries are provided with aid.  The image relies on the “trickle” being a slow flow of water considered adequate for the purpose of useful aid to the sub-Saharan countries, contrasted with “flood”, the large volume of support actually needed.

Example 

“We have to get to the heart of the matter” illustrates the need to get to the core, or the most important part, of something.  It works by comparing something of central importance to the most essential organ in the body.  Both are vital.  The heart is literally the centre of our existence and the comparison emphasises the importance of the essential centre of what is being discussed.

Example

“The generals of World War One were beached, high and dry, above the tide mark of history” illustrates the uselessness of the debris that is washed up on a beach.  It works by comparing the generals’ role in WW1 with flotsam and jetsam washed high up on the beach away from the ebb and flow of the tide.  The image is effective when we understand the historical context of the generals in WW1.  The image of debris above the tide mark stresses the unimportance of the generals and the fact that they are unnoticed, inactive and forgotten by history.

Example 

“The spur for me (to write) is the fear of evaporation – erosion, amnesia, if you like – the fear that a whole decade may drift away and leave nothing but a salt-caked mud-flat” illustrates the drying up of a lake, river bed or suchlike and is appropriate to the topic of memory loss because like the drying out of a river bed, memory loss is a gradual, barely noticeable, insidious, irreversible process.

· personification – when an inanimate object is described as if it were alive

· alliteration – the repetition of a letter (usually a consonant) at the beginning of two or more words in a phrase

· assonance – the repetition of vowel sounds in two or more words in a phrase

· onomatopoeia – words which imitate the sound they describe

· pun – a play on words involving words which sound similar but have different meaning

OVERSTATING, UNDERSTATING, and TALKING IN CIRCLES

· hyperbole – deliberate exaggeration

· litotes – deliberate understatement

· euphemism – a mild word or phrase used instead of a frank or offensive one, e.g. ‘passed away’ instead of ‘died’/can be used for humorous effect, e.g. ‘tired and emotional’; meaning ‘drunk’

· circumlocution – talking around a topic/talking in circles

CONTRASTS, OPPOSITES, and CONTRADICTION

· paradox – a statement which appears to be a contradiction but which, on closer examination, does contain a truth, e.g. to preserve the peace, prepare for war
· oxymoron – when two opposites are placed side by side to heighten the effect of contrast, e.g. free servitude
· juxtaposition – placing side by side/a writer might deliberately place two sentences beside each other to highlight a contrast

THE OLD, NEW, and OVERUSED

· neologism – the coining of a new word, usually to describe a recent development or invention, e.g. teletext

· archaism – a word from the past which is no longer in current use, e.g. thy

· cliché – an expression which may have been original once but has now become overused, e.g. avoid it like the plague

